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Cisco Systems

Cisco started the business from a computer called router, which is a device allowing the connection between two different computer system. Its business was very successful starting from the time router was put into the market. The following is the analysis of Cisco, including about its competitive advantages and the threat.
Competitive advantage

Cisco‘s competitive advantage is the differentiation of product, in fact that is the unique product at that time. In spite of that, the mature online sale system can provide the advantage of lower cost to Cisco.

According to the Generic Building Blocks of Competitive Advantage, there are four factors to build competitive advantages: innovation, efficiency, quality and customer responsiveness. The router in the market in 1987 was the first product of such kind of device, this product innovation give them a strong competitive advantage at that time, people want to use that kind of product must spend their money to Cisco. At that time the development of computer network is not mature so it is hard for others to imitate, actually such kind of product may be protected by law in some extent. 
The appearance of router pushes the development of the computer network. Cisco was aggressive in adopting e-business infrastructure and was one of the first companies who move their business on the internet. When their business grew, Cisco practiced online sales instead of hiring more personnel. Moreover it developed a program to serve customers online. The program successfully avoids ordering mistake made by customers( thus increase the processing of the customer order), and it originally serves customers in a quicker way (Sprint, its major customer, can save more than ten days every time it sign contract with Cisco). Furthermore, Cisco can use less staff when it handle the customers online, significantly saving the cost. The system Cisco relied on brought it superior efficiency with lower cost, which is one of the important factors of the competitive advantage.
Besides bringing the higher efficiency, the system also bring the higher quality service to the customer. The customer love this automated order processing system can minimize ordering mistakes and allows for quicker execution of order. It takes care of those who are not familiar with online purchasing and those who hate delay in buying things. And the Cisco system, which is a famous computer language used in computer networking, is so popular because of its high performance. What people buy from Cisco is its products, the product quality is of course an major factor in order to success. Cisco also put effort in improving the customer responsiveness. The infrastructure provided superior point-of-sales service and after-sales service and support, and Cisco has distributed all support software to customers.
From the overall factors, Cisco has its great competitive advantage in the market. Next is about how Cisco can create value to customers.

Value to customers

The components of the value to customers are the cost, profit margin and consumer surplus. The difference between the whole value and the cost is the value created. So the lower the cost is, the higher the value created and the profit and consumer surplus.
The use of e-business enables Cisco to save cost in employing staff to handle the customer accounts, Cisco has just 300 staff while 900 is needed if the customer order is not handled online. Lower cost implies higher profit margin. The high efficiency of the sale program allows both Cisco and its customers save cost too. Sprint as the major customer experience such advantage as described above. This means customer can gain more consumer surplus, besides saving cost, the program will describe customers the familiar problems or remind customer when they make any mistake like ordering incompatible equipment, avoiding mistake and unnecessary wasting of resources increase consumer value too.
Threat
Although Cisco has such advantages described above, competitive advantage is no longer advantage anymore when the competitors can have the same advantage too. The difficulty of Cisco to protect its advantage is that the system is not difficult for others to imitate. Developing a similar does not require special or large machine or equipment, and the system can be outsourced to other company. The cost required is not high. About the after-sale service, other companies can also provide similar services through the use of internet. As a result, its competitive advantage may not be durable. 

The market Cisco locates is with fewer barriers to entry, which means any companies as potential competitors may come to threat Cisco current position. As more companies enter this market, supply increases so quickly without demand corresponding increase, price war may appear. Except potential competitors, the mass existing competitors are also a big problem. In such situation which customers have a lot of choices the bargaining power of customers is high, customers is then a threat.
The fact is that Cisco has lower profitability and return on investment. It seems Cisco should adjust its strategy such as moving to other market or concentrate on cost leadership or product differentiation.
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